
Higher : Circle 
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Ans 
1

7
4

= −y x  
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Ans (a)  y = x – 5       (b)  C(5,10)       (c)  (x – 10)2 + (y – 5)2 = 50 
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Ans (a)(i)  (13,-4)       (ii)  C = -455       (b)(i)  3:2  or  2:3       (ii)  P(5,2)     (c)  (x – 5)2 + (y – 2)2 = 1600 
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Ans y = -3x - 5 
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Ans (-1 , -3)  and  (2 , 6) 
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Ans ( x – 8 )2 + ( y – 3 )2 = 360 
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Ans ( x + 3 )2 + ( y – 4 )2 =17 
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Ans Proof and (2, 1) 
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Ans 
(a) C1 (-5, 6) and r = 3   , C2 (3, 0) and r = 5     

(b) Proof using ‘sum of radii’ < ‘distance between centres’   ,   8 < 10 
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Ans (a) y = 2x – 1     (b) p = 10 
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Ans k = 25 
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Ans (a) 15     (b) (x – 6)2 + (y – 7)2 = 400 
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Ans C 
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Ans B 
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Ans (a) (1 ,-2 ) , (3 ,4 )       (b) Proof (eg.using gradients : 2×-0·5 = -1)      (c) (x – 2)2 + (y – 1)2 = 10 



2
0
1
4
 P

2
 Q

8
 

 

 

 

 

 

5 

Ans 
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Ans (a) (-1, -2) , √32       (b) y = -x +5       (c) Proof       (d) Proof 
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Ans (a) P(-3,-1) , Q(1,7)     (b) (x + 5)2 + (y – 5)2 = 40 
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Ans C 

2
0
1
1

 P
2
 Q

7
 

 

9 

Ans -23 < p < 13 
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Ans B 
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Ans (a) P(-1 , 4)     (b) (x – 1)2 + (y – 6)2 = 8 
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Ans B 
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Ans (a) Proof     (b) 4y = -3x – 45     (c) (x – 5)2 + (y – 10)2 = 400  and  (x + 19)2 + (y + 22)2 = 400   
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Ans D 
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Ans (a) (-4,-2), 58     (b)  d = 128     (c) (3,1), (-1,5) 
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Ans 
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